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Mt s Of$A| A E 235-11(ASE) ABE 50,000 60,000
MElLE OjfA| AT E 231(A3E) 235 50,000 60,000
Hatd e ofA| A|H S22 13(3t5) =) 40,000 50,000
MeEtd T oAl A|H3Z 35(3E) e 50,000 70,000
Matets 0jA| A|H32Z 35-14(3tHE) =) 50,000 70,000
HEte = Of=A| A|H3Z 35-6(55) a3 50,000 60,000
Matehs o]A| A|H32Z 35-6(EHE) =) 50,000 60,000
HEtHd = oAl Al S22 22-1(85) a3 45,000 70,000
Mateh s ofA| A" S22 33(3tHE) =) 50,000 60,000
Heted = oAl AIES32 12-15(%-3) a3 50,000 60,000
Hetd e oA A8 S22 16(845) &= 45,000 70,000
Mt oA SEA1Z 5(&5) e 40,000 60,000
Mt of=A| A|H S22 36(5tHS) =) 40,000 40,000
HEtHd T of=A| ShE M1 11(8E) a3 40,000 50,000
M ofA| SEA1Z 13(3HE) =) 40,000 50,000
Mt oj=A| A|HA6Z 3 (E5) e 100,000 | 130,000
Mtz of=A| A|HA6Z 19 (3HE) =) 104,000 | 128,000
Matez o] A|HE32 30-7 (8t5) e 50,000 60,000
SH |HMEtEE oAl AIHAMEZ 5 (BtS) =) 50,000 60,000
SE  |HEtEE oAl AFEAM6Z 11 (3H5) a3 60,000 80,000
S |MetdE oAl AEAM6Z 23 (88) =) 70,000 80,000
(=} Mt oA A|HA 62 15 (3Hs) e 80,000 90,000
Hatdz of=A| A|HA6Z 15 (3H5) IR 55,000 60,000
MELHE Ol F=A| A|HM6Z 13 (3t5) 1= 40,000 50,000
Hatde of=A| A|HA6Z 25 (3H5) ) 85,000 | 105,000
HetedE of=Al A|HS32 30-5 (85) a3 40,000 60,000
Hatdz oAl A|HASZ 16 (3H5) =) 50,000 70,000
Matez o] A|HES32 30-2 (8t5) e 50,000 60,000
MEMHE oAl A|HE3Z 30-6 (8t5) =) 50,000 60,000
Mg oAl APEA 52 26 (3H5) &s 40,000 50,000
Mt Of A A|HA1Z 56(5tHS) =) 40,000 50,000
MEtd T oAl AIRE22 30(8tHE) e 45,000 55,000
Metde oA 5532 3(BFS) 585 50,000 60,000
MElE oA ZRE 48-7(BR5) z0E 45,000 | 100,000
Matehs o] Z24Z 5(X2E) E=N- 40,000 50,000




36 L 2 |MEtHE oAl 5R2Z 8(BRE) E2E 25,000 | 40,000
37 SEf R R E 28 MY E of%A ZR1Z 36(ZRE) yes 40,000 50,000
38 Haolo|eMEBSY Y |MELE O$A YYR 20(HEE) Y45 75,000 | 110,000
39 oz 3 = |HEtEE oA SR 99(HEE) 555 115,000 | 210,000
40 S Ex HN |HEIEE oA YR 38(HEE) =S 80,000 | 150,000
41 o Qs AE SH  |MEEE oAl AU 40(HEE) =E- 55,000 [ 130,000
42 ofz|ofs A= s HEtgd e oAl BLE 185(HFS) = 190,000 | 210,000
43 HiCHE & oE  |MatHE oA YR 213(HES) =B 40,000 70,000
44 ZEnasH D MY E OfaA| QERR 75(2HE) ~HE 50,000 70,000
45 HSRH s =t S |MEHE O2A| LEER T4SHE) SME 100,000 | 150,000
46 ZRUtA D E DE (ML oA QEER 61-14(3HE) | $HE 60,000 | 100,000
47 yamE D |MEHE oA LSRR 61-6(2HS) SME 40,000 50,000
48 I == DE Mt E oA HEMZR2Z 13(8E) e 35,000 40,000
49 SHAlDE DE MY E oA RN Z 22 15(8HE) =) 35,000 40,000
50 SHI D |MEtHE oA HEMZR2Z 19(3HE) e 45,000 80,000
51 EIER=L= DE (Ml E oA HEMZAL1Z 8(EHE) =) 45,000 50,000
52 M DE DE  (MaldE oA S22 32-8(8E) e 40,000 50,000
53 HenH DE | MElLE oA HEMZAY 14-1(8E) | s 25,000 25,000
54 SETT DE MY E OjaA| HEMTL3Z 8(SHE) e 45,000 70,000
55 za(Rh 2 & DE (MafdE oA HEMZA3Z 6(EHE) =) 40,000 70,000
56 ing 2 & DE MY E OjaA| HEMT3Z 25HE) =1 40,000 70,000
57 TapxtD E D |FMIHE oA HEMZ 12 26(8HE) =) 40,000 40,000
58 oapd D |MatHE oA SHEA1Z 16-6(3HE) e 40,000 50,000
59 & o oE Mg E oA EH522 15(3HS) =) 40,000 50,000
60 WNER=L DE  (MatgE oA 81522 30(3HE) e 50,000 70,000
61 SEJ=g=] oE  |MEtEE oA SH522 23(3HE) e 45,000 50,000
62 6&9 D E oE (M2t E oAl g4 21-10(2HES) S 50,000 55,000
63 2o oE  |MateE oA A2 21-6(3AHE) BlAE 50,000 60,000
64 AADE DEH MY E oA A3 21-3(3HEE) S 40,000 50,000
65 2SR A oE  |MateE oA A 24-7(3HEHE) BIAE 35,000 35,000
66 sy DE (MateE oA HAZ 24(3HEE) s 50,000 60,000
67 ofz| el oE  |MateE oA A 21-4(31EHE) BlAE 50,000 60,000
68 Ho| Rl DE (MEEE oA HABZ 24-8(31 A ) s 50,000 60,000
69 OHEFY oE Mg s oA A3 21-5(31EHE) BlAE 50,000 60,000
70 oAzme D |MEtHE oA 2M6Z 43-4MUS) Moz 50,000 60,000
71 Ftetm e DE  |MatHE oA 2M6Z 42-4MYUS) Mes 40,000 50,000
72 Neo= 28 |HEtEE oAl 246 42-3(MES) MAUS 50,000 50,000
73 ] 29 (MElHE oAl HANZ 8-4(3HEE) 4yE 45000 [ 50,000




74 CiCHR OIEd DE | FMEIEE oAl A3 21-17(3HEHS) S 50,000 60,000
75 of o] AR QIE DE | Mape T o4 A] AARBZ 21-11(3HAHE) BlAE 60,000 90,000
76 AolBUnsg oE (M2t E oAl g4 21-15(2HES) ES 60,000 100,000
77 2| K| A o e |HEtEE oAl 223 69(2FS) | =S 40,000 55,000
78 ZA=EDE D |MateE oA A 1Z 95-9(0 A E) oME 40,000 50,000
79 A LIS E SE ML E oAl 242106, 65 75(E45)| 245 70,000 80,000
80 LoHHH =L ADHl ZEH  (MIHE A 22 58(EFS) =S 75,000 95,000
81 510|201 o &l oE  |MatHE oA 23122 84(E45) a4z 50,000 60,000
82 ASg = DE (Malts oj4A| 0212 39-14(0 M 5) M= 60,000 100,000
83 EEIESSY1-] oE  |MatHE oAl 212 43-17(0 M S) NS 40,000 50,000
84 175 El D |MEtHE oAl 212 43-21(0ME) oAME 50,000 80,000
85 Mz gl D |MElEE oAl O 2232 76-1(B4E) | 245 50,000 60,000
86 ARE o DE  |[MatgE oA O 22312 69(0 M S) oAME 40,000 60,000
87 Gmg oE  |MatHE oA 212 43-7(0 A 5) ME 40,000 55,000
88 Elfg=] D |MEtHE oAl 212 43-13(0ME) 24 50,000 60,000
89 K)o &t D |MElEE oAl O 223122 33(B45) | 245 50,000 60,000
90 252 o |MElZE OjA| O 22322 65(245) | 24 50,000 60,000
91 nzZn3a DE M2 0]4A] Ol A12 95-8(0I ME) oqME 40,000 50,000
92 QELHAM HMN (ML E oA| SR Z 78(E31S) =31 60,000 [ 100,000
93 Of =H| X[ & HE | MEEE oA SHHE 64(B2S) S3ts 60,000 [ 150,000
94 Chotm &l D |MEtHE oAl 231222 13(251E) 23 40,000 60,000
95 AHE DS SHE |MEtHE oAl 2322 20(235HE) 2315 50000 80000
9% SHOHI S S |MEtHE Oj&A| QELRZ 20(23HE) 2= 70,000 [ 120,000
97  PHEINNHAESIQAAAESISAIMEILE O$A| 322 16-1(F385) | 235 15,000 15,000
98 HHQ o Bl D |MEtHE oA 2322 8-1(23tS) 23 40,000 50,000
99 CHEAAESIRA D |MEtEE oA 23122 15-1(28E) | 23E 40,000 45,000
100 Bl o e D |MEtHE oAl 23HE22 15(25E) 23 50,000 60,000
101 ZooE DE Mt E oAl 23HE22 25-1(2E) | 23E 30,000 50,000
102 DRAADH DE  |FMEIEE oA SEE 87-1(3%5) 33E 30,000 60,000
103 Bkl HE | MEEE oA A AUFZ 9 S4E 70,000 [ 120,000
104 S e 2t M HE | HEEE oA S ZHUYRE 85 =ME 90,000 | 130,000
105 AEEoAH HM  [MEtYE oA SALS FIES|QHZ 9 =N4E 100,000 | 140,000
106 e HNE | HEfEE oA EAE Z2H4ZE 53 == 40,000 80,000
107 ey sE SH MY E oAl SALS ZLsotz 93 =) 70,000 [ 120,000
108 DS= &l SHE Mt T Oj$A| SAS 2L Z 42 =S4 50,000 | 100,000
109 BHAZZzAHEY HH  ([FEHE Al S4S TIF6HHE 76 SNE 60,000 40,000
110 02 Lot 153 HAM  [HEYE o$A] 0|2 ATEE 202 35(E3E)| =3s 100,000 | 185,000
111 X|e=HM HE | MEIHE oA F=AIRE U(BES) S3ts 96,000 [ 200,000




112 BIAAESIS A HMEtHE of5Al O] MBRE 191ESS)| Bas 15000 | 18,000
113 SXHEM et s ofAl S B >0,000 | 100,000
114 HEMEM T 024 B 72,000 | 150,000
115 A7t0| 2 &l MEPEE oA us 60,000 80,000
116 CHo|Of etz oA mE== 40,000 60,000
117 Sdzg HEteE oA Y3 40,000 70,000
118 sst7|Ee HMEtdE oA mi= 15,000 20,000
119 2d-g| MEPEE oA us 50,000 70,000
120 ofzEmE et e of3A| mi= 50,000 70,000
121 HAESRA HEtHE oAl & -2( zYS 25,000 25,000
122 Sl THE L Mtz ofA| O|&ATRZ 135(B8E)| Zas 110,000 | 165,000
123 |o{AH A EB} Hetge oA S22 1814 E) IEN= 20,000 22,000
124 e T AWECPY| HMetdE oAl O]zl U= 108,000 | 185,000
125 Bl X o &l MEtHE ol2A| & EEHE 40,000 50,000
126 ASEDE ML L oAl £ 1S 35,000 40,000
127 220 Metd s oj3A| EE22 6-61 =& 40,000 50,000
128 === Mate e oA £832 141 Egs 40,000 50,000
129 Zdjo|2El MEIH T Oj2A| 2214 [eX=TR= 50,000 60,000
130 EQAmE MEtdE oj4A| EE3Z 121( Eos 40,000 50,000
131 $otm el MELE oj3A| @2 === 40,000 50,000
132 AEL R etk oAl 2E4Z 59(EUS 2YUSF 50,000 65,000
133 o|stRADEH Metg e oAl 2842 61 ) 2YSF 60,000 70,000
134 sape HELE Ol4A| QE4Z 48(2EUS Qs 40,000 50,000
135 o=z olg MEFLE Of3sA| QE2Z 12(28E) === 40,000 50,000
136 g 2 e MEtdE oA Q222 12-4(235) s 60,000 70,000
137 OHE| 2 & Metgde ol4A| 2222 12-62US Qs 40,000 50,000
138 cck 2 & Hetgde oAl 222 92U S) 2YUSF 35,000 35,000
139 z=ola| e MElLE T Oj4A| @242 53(8lE [eR=15-= 45,000 60,000
140 VERN=L- HEtLE oA ENE— 40,000 60,000
141 Heamd MEPHE oA SiE 50,000 70,000
142 2End HMEtE oA 2is 35,000 40,000
143 Xep= HMEHLE 054 2Ms 60,000 [ 120,000
144 stRLzE HEtHE oA SthE 40,000 60,000
145 oA Mate e oAl g2iE 50,000 80,000
146 = FMEYE 04| 2AE 40,000 50,000
147 ES=L MElHE 024 M 40,000 60,000
148 REd Hetd e oAl SHE 40,000 50,000
149 M| E HMEHLE 054 S 30,000 40,000




150 ML AR E oE (M2t E oAl SAHE6E 17-7(848) Sis 40,000 70,000
151 TR 2E (MAIHE oA EALEZ 11-15(2ME)| =2AS 30,000 40,000
152 x=2z0H DY (MY T oA EALEZ 11-18(2AE) | 2AS 40,000 70,000
153 aatmg) DE (MY T OA] EALSZ 17(RALE) =2AS 40,000 50,000
154  |AHOHXUASH| S |FMEHE oj4A| 2AHSZ 17-15(2M5) | 2AS 90,000 | 110,000






